
Title:  Storing Inventory
Points:   100 points 

To be submitted over email to dmarino@cs.ucf.edu
Objectives:  
 To learn implementation and manipulation of binary trees.
Description:
You are to write a program that creates and maintains a binary search tree of items in a super market. Each item has a name and a value. All item names will be alphabetic strings of less than 30 letters. All values will be positive real numbers representing prices. Also, for each node in the tree, you are to maintain the value of all of the items in that subtree. Your tree should be "sorted" based on alphabetical ordering of the item names as determined by strcmp.Your program must allow the user to do the following:
1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

For example, if the user adds the these items:

1) "soap", $2.95

2) "raisins", $2.00

3) "jellybeans", $5.00

4) "tea", $1.95

in this order, then the structure of the binary tree would be as follows:




soap 2.95




total: 11.90



        /                    \



  raisins 2.00
    tea 1.95



  total: 7.00
    total 1.95

                            /

                       jellybeans 5.00

                       total: 5.00
Sample Program Run
Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

2

Which item would you like to delete?

soap

Sorry, there is no item soap to delete.

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

1

What is the name of the item you would like to add?

soap

How much does soap cost?

2.95

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

1

What is the name of the item you would like to add?

raisins

How much does soap cost?

2.00

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

1

What is the name of the item you would like to add?

jellybeans

How much does soap cost?

5.00

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

1

What is the name of the item you would like to add?

tea

How much does soap cost?

1.95

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

4

For which item would you like to find the value of all the items underneath it?

raisins

The value of all the items underneath raisins is $7.00.

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

3

Here are all of the items in inventory:

jellybeans $5.00
raisins $2.00
soap $2.95
tea $1.95
Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

2

Which item would you like to delete?

raisins

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

4

For which item would you like to find the value of all the items underneath it?

soap
The value of all the items underneath soap is $9.90.

Which of the following choices would you like?

1) Add an item to the inventory

2) Delete an item from the inventory

3) Print out all of the items in the inventory in alphabetical order.

4) Print out the value of all items underneath the subtree of a given item.

5) Quit

5

Thank you for using the binary search tree inventory!
Restrictions:
All the functions that you develop should have pre and post conditions specified at the top of the function. The code should be commented wherever appropriate. It is not necessary to comment each and every line of the code. Make proper use of white space and indentation.

Your source file should begin with comments containing the following information:
/*  Name:  

     PID: 
     Course:
     Assignment title:

     Date:
     Compiler and Enviroment Used:

*/
Deliverables:
Your program must compile under DevC++ or  gcc. Submit your assignment (the .c file only) via email as an attachment to dmarino@cs.ucf.edu.
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